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Consider a sample of oxygen behaving like an ideal gas. At 300 K, the ratio of root mean
square (rms) velocity to the average velocity of gas molecule would be :

(Molecular weight of oxygen is 32 g/mol; R=8.3 ] K~ 1 mol ~1)

Options :
3
8
86435119441.
81
86435119442. 3
8
3
86435119443.
3
86435119444. 3

Question Number : 1 Question Id : 8643516481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

21QE QUG AIPAE LIRS 9 AT @A GoIeg 72 | 300 K c1971816a eHIagea AlIede
Qe (2. 90.499) 696 8 VAN 626Q ARUIS 629 :

(Molecular weight of oxygen is 32 g/mol; R=8.3 ] K~ 1 mol 1)

Options :
I
8
86435119441.
8
86435119442, 3
8
:

86435119443
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B

1=
|
86435119444. \E

Question Number : 2 Question Id : 8643516482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass m, collides with another object of mass m,, which is at rest. After the

collision the nbject_q move with equal speeds in opposite direcion. The ratio of the masses

m, : m, 15 :
Options :
86435119445, 1 1
1
86435119446
86435119447, 2 1
86435119448, 5 1

Question Number : 2 Question Id : 8643516482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m; 999 999 60159 94 80 2960 29 m, 944 99 UG 9@ 9F A2 U FYE | 2K U6R AT
dI@ 9 AR 6IEER FANG TEIER G QER | AFINTR 9LYR AFLIS m, : m, 69RT :

Options :

86435119445, 1 * 1

1
86435119446.

86435119447, 2+ 1

86435119448, 5 1

Question Number : 3 Question Id : 8643516483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A particle of mass m moves in a circular orbit under the central potential field, U(r) = =

where C is a positive constant.

The correct radius — velocity graph of the particle’s motion is :

Options :
r A
) >T
86435119449.
r A
O » U
86435119450.
I A
Q »
86435119451.
r A
O >
86435119452,

Question Number : 3 Question Id : 8643516483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

_ _ _ _ - % L L
A6 fale C 9229l 66159 cag1a ue egg, Ulr) = < 68 m 9gq Q4] 6aIcN @dRIc 6

@e2e
RERITe 669 A0a AE — af6es ERUTeE Z6E -
Options :
I' A
) >
86435119449.
r A
O » U
86435119450.
I A
Q »
86435119451,
r &
O i
86435119452,

Question Number : 4 Question Id : 8643516484 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A solid cylinder of mass m is wrapped with an inextensible light string and, is placed on a
rough inclined plane as shown in the figure. The frictional force acting between the cylinder

and the inclined plane is :

60°

[The coefficient of static friction, p, is 0.4]
Options :
.:11}1

-

86435119453, -

5 mg,
86435119454.

meg,

N~

86435119455.

0
86435119456.

Question Number : 4 Question Id : 8643516484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2IQARE-AA 6aIT @aFen 1@ m 999 34 19 Fal 3RQaQ gPIINE 1e° §e6n AdIaIRQ!
2RQI6a 19 G982 980 I7eR QU6R QUIKal | dREe @ aeIfal 9IeR kIR I AYA
QAEE of U6

60°

(de ada YoIe p, =04)
Options :

86435119453,

5 mg,
86435119454.

86435119455, <

0
86435119456.

Question Number : 5 Question Id : 8643516485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the angular velocity of earth’s spin is increased such that the bodies at the equator start
floating, the duration of the day would be approximately :

[Take g =10 ms 2 the radius of earth, R =6400x 10° m, Take 7= 3.14]
Options :

does not change
86435119457.
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1200 minutes
86435119458.

86435119459, 00 minutes

84 minutes
86435119460.

Question Number : 5 Question Id : 8643516485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

A9 gaen gdea calde 690 ¥ib 9F aaioml cafod 999 caslen 2ele 929@e 28aI1q 2199
@OED, 6069 6OITY QA0 BIgy MUY 699 :

(2@ g=10 ms~2, 92QIQ VAT R=6400x 10> m, v=3.14 §2)

Options :

86435119457, &4me G

86435119458, 1200 €106

86435119459, 00 F17€

86435119460, 5% F19€.

Question Number : 6 Question Id : 8643516486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a uniform wire of mass M and length L. It is bent into a semicircle. Its moment of
inertia about a line perpendicular to the plane of the wire passing through the centre is :

Options :
M2
2
86435119461
1 MIL?
g

86435119462.
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1 MIL2

4
86435119463.

ML

it

m

86435119464.

Question Number : 6 Question Id : 8643516486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M @9¢ 9e° L cOdy G984 clifq 29ed 010q 90109 48 | 991q YEQa qd oFla JUKIeE
PIREE AR MM NIGEH 2R YFQRA AL F1 9a YNl BE QIKIES AQd 999 26e :

Options :
Vi
2
86435119461
1 MIL2
N 2
86435119462, = T
1 MIL2
4 g
86435119463. :
2 M2
5 2

86435119464.

Question Number : 7 Question Id : 8643516487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The speed of electrons in a scanning, electron microscope is 1 x 107 ms~ 1. If the protons

having the same speed are used instead of electrons, then the resolving power of scanning

proton microscope will be changed by a factor of :
Options :

86435119465, 1837
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=

1
86435119466.

=
:‘
L
]

86435119467.

1837

86435119468.

Question Number : 7 Question Id : 8643516487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
691G ARG, QEMQ.R. 2E9IEd UR6R GERY AR 696 1x 107 ms™! 266 | 9@ QERY QR L996R
QRIS 696 29I 6gIRR QLR RAILAN, 6669 AIGE QR 7 UgSd Jaa I A0el 0aas
6REOGE 6aq ?

Options :

86435119465, 1837

=

1
86435119466.

1

A/ 1837

86435119467.

1837

86435119468.

Question Number : 8 Question Id : 8643516488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The velocity - displacement graph of a particle is shown in the figure.

-

»X

{} X (4]

The acceleration - diqplacc-mcnt graph of the same particlc- is rc-prc-sc-ntc-d h}-‘ :

Options :
cl
e X
864351194609.
a A
O X
86435119470.
= N
O » X
86435119471.
A
O X
86435119472.

Question Number : 8 Question Id : 8643516488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ge06a 6015 RARIQ 696-999 cRNHTE QdIKIRE

[EF'Y
'3.1”
O X P
609 RERITa 9ad-991950 6RTed QalQIRTIBe
Options :
ol A
O x
86435119469.
i A
O X
86435119470,
d A
O » X
86435119471,
il A
O X
86435119472.

Question Number : 9 Question Id : 8643516489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For an adiabatic expansion of an ideal gas, the fractional change in its pressure is equal to
(where v is the ratio of specific heats) :

Options :
av
g | v
86435119473.
vV
3 i
dV
86435119474.
1 dV
v ¥
86435119475.
av

86435119476,

Question Number : 9 Question Id : 8643516489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6615 2194 SR QRCIT gAIRE dig, I9IR FI96 620 6g°de 0eeq (62w0I6a FITMIGeR
2QAIe v 26 ) QAR 699 :

Options :
dVv
Y vV
86435119473.
V
3
dV
86435119474.
1 dV
v ¥
86435119475.
av
er

86435119476.
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Question Number : 10 Question Id : 8643516490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The a_ngula_r momentum of a planet of mass M moving, around the sun in an elliptical orbit is

s

L. The magnitude of the areal velocity of the planet is :

Options :

86435119477.

86435119478.

86435119479.

4L
86435119480, ™M

Question Number : 10 Question Id : 8643516490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gdy 918g6s R 2aIab (aRdEen) 290268 M 999 §44 6ot goa cxldia a°6ed L 26e
efe cE91E JAEeea TRMIE 26T

Options :

86435119477.

M
86435119478.

86435119479.
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4L
86435119480, M

Question Number : 11 Question Id : 8643516491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Anideal gas in a cylinder is separated by a piston in such a way that the entropy of one part
is 5y and that of the other partis S5,. Given that5, > 5,. If the piston is removed then the total
entropy of the system will be :

Options :

S, x5,
86435119431. -

86435119482, 51— 52

S, +S
86435119483, 1 2

.51

52
86435119484,

Question Number : 11 Question Id : 8643516491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
661t GRancn 9@ 2Ied Naq 9@ J86 QIR YO8 RI96a 2REl FRIIRE afd 6aITY aIea
Qasraol(6gid) S; A6s ¥e° AR AGR Y0l (96gd) S, 26 | S, > S, 6RIR QRUILIRE | 9
daedq QEFRIgN, 6669 JaIQiTa 6719 Ggeral(9eaid) coe :

Options :

S, X5,
86435119431. -

86435119482, 51~ 5,

S, +5,
86435119483,

S1

S
86435119484, ~2

15/91
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Question Number : 12 Question Id : 8643516492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- & - . - " & - - * - 7 *
The function of time representing a 51mple harmonic motion with a permd of — is:
()

Options :

sin(wt) + cos(wt)
86435119485.

T )
sin“(wt)
864351194386.

F

— N
chsl — = Tt |
86435119487. ' 4

cos(wt) + cos(2wt) + cos(3wt)
86435119488.

Question Number : 12 Question Id : 8643516492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. am e - .
dIPEaie — 99 @ 4o LR6HIne fva Gdixdal dilde Owa Zee :
(1
Options :

sin(wt) + cos(wt)
86435119485.

Ty )
sin“(wt)
86435119436.

s . Y
chsl — — 2wt |
86435119487. . 4

cos(wt) + cos(2wt) + cos(3wt)
86435119488.

Question Number : 13 Question Id : 8643516493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a series LCR circuit, the inductive reactance (X, ) is 10 {} and the capacitive reactance (X)

is 4 {). The resistance (R) in the circuit is 6 ().

The power factor of the circuit is :

Options :
|
86435119489. V2
V3

86435119490, 2

86435119491.

86435119492.

Question Number : 13 Question Id : 8643516493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6515 6g416a @°ge LCR @qie, a6, geaiaq goale (X)) 62a8 10 (1 9e° §I66 goale
(Xe) 6298 4 () | a00aT6a @946, go6aId (R) 6 2 26g | afides 480e (QI@ia TIga) 26T -

Options :
|
864351194809. V2
V3

86435119490, 2

.
86435119491,

1

86435119492. 22

Question Number : 14 Question Id : 8643516494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
17/91
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Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct ?
(A) Electric monopoles do not exist whereas magnetic monopoles exist.

(B) Magnetic field lines due to a solenoid at its ends and outside cannot be completely
straight and confined.

(C) Magnetic field lines are completely confined within a toroid.

(D) Magnetic field lines inside a bar magnet are not parallel.

(E) x= -1 is the condition for a perfect diamagnetic material, where yx is its magnetic
susceptibility.

Choose the correct answer from the options given below :

Options :

and only
86435119493. ®) e i

(B) and (C) only
86435119494, :

86435119495, () and (B) only

86435119496, (&) and (E) only

Question Number : 14 Question Id : 8643516494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FORYe aBgen G RugEe A0, 6] 7

(A) QAR IPEAR 6UROIER Q6T EA0IER CAYIDR IREREG QSR FIT |

(B) €615 QRG9R die GARIY 698 CRMIGHR Y210 J96a 1e° QI6a a°gd Glee dul 9e°

QRIS RR6DQ Q1T |

(C) QarRE 0 (60¥9) AR YARID 698 CAHIGER A°gd SIRER QINIQE CAR2I |

(D) 61T 94 9AQ FRIER YARIY 688 Cadgew ARIeq KO3 |

(E) 6615 g8 gogna1a agid aiel x= —1, 6d0I6a x I2IQ 9ARE gRde! 26T |

GFen GuIKIRgel IegeEes OF Agt ouR @8 :
Options :
86435119493, S99 (B) 1&" (D)

86435119494, 579 (B) 49 (C)
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86435119495.

86435119496.

Question Number : 15 Question Id : 8643516495 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6299 (A) 9e° (B)

6298 (C) 9"

The correct relation between « (ratio of collector current to emitter current) and 3 (ratio of

collector current to base current) of a transistor is :

Options :
0
3 =
[ l1+a
86435119497.
B
o —
o
86435119498.
|
e o
86435119499.
B
e
1+
86435119500.

Question Number : 15 Question Id : 8643516495 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NG 93906 o (g9 846, 6916 8
69Q @QYG 69IPa BQaIe) Aea ae

Options :

86435119497.

B

i

86435119498.

oa 9QU6 69168 AGUIE) 9e° B (2°gI21 9946 6316 6
AHGE CERE -

19/91
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86435119499.

86435119500.

Question Number : 16 Question Id : 8643516496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A proton and an a-particle, having kinetic energies KF and K, respectively, enter into a
magnetic field at right angles.

The ratio of the radii of trajectory of proton to that of a-particle is 2 : 1. The ratio of K, : K,
18 :

Options :

86435119501, 1+ 4

86435119502, 41

86435119503, 0 1

86435119504, 1 * 8

Question Number : 16 Question Id : 8643516496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qo 98 galged Ic:F 9e° K, QR2Ql 68IT 69190 99° a-ad@l @A RIQ6R (IN6RIEER) 9@
QAR CAGR Y694 @geR
6gIER 9Q° -8R0 g6RT Q28 QUAIS gFee 2gaIe 2: 1 266 KF : K, @ 2gaIe 266 :
Options :
86435119501, 1 4

86435119502, 411

86435119503, 0 1
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86435119504, 1 - 8

Question Number : 17 Question Id : 8643516497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Three rays of light, namely red (R), green (G) and blue (B) are incident on the face PQ of a

right angled prism POR as shown in the figure.

]'_!

—

Q R

The refractive indices of the material of the prism for red, green and blue wavelength are

1.27, 142 and 1.49 respectively. The colour of the ray(s) emerging out of the face PR is:

Options :

86435119505, Plue and green

86435119506, Pue

green
86435119507.

86435119508, red

Question Number : 17 Question Id : 8643516497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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F96a 2dIKIRgRl 29aI6e, 17 AN6aId §a¢ PQR @ PQ aigea G6qIf 2ieaia oF g2l aia (R),
aee (G) 9e* @1e (B) 2AEPE 6208 |

Q_| R

RN, AP I9° AR e 601 0 o Celkia geaedis Kaleen 1.27, 1.42 99° 149 266 | PR
digean 918 2Ll 9F (2J9Pe)a e 266
Options :

_"" o
86435119505, 1@ 9&° €9E

86435119506 ©1%

86435119507. TAr

86435119508, ™%

Question Number : 18 Question Id : 8643516498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The time taken for the magnetic energy to reach 25% of its maximum value, when a solenoid
of resistance R, inductance L is connected to a battery, is :
Options :
£ In2
86435119509, I*

£ In5
I

86435119510.
2 In10
R
86435119511.

22/91
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infinite
86435119512.

Question Number : 18 Question Id : 8643516498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6QEEER6R @9Ue, o6l R ¥9° g6dlewel L @94 6016~ ARaeq QUIEeal 92 2°6I9 KRl
6I6066R QARG 95 IR AING IR 25% 6Q D989 IR 6FRAL AND 699 :
Options :
k£

S In2
86435119509.

£ In5
| 4

86435119510.
L In10
R
86435119511.

d41e1
86435119512.

Question Number : 19 Question Id : 8643516499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave propagating along y-direction can have the following pair of

electric field {E] and magnetic field {E] components.
Options :

qu Bv e B B,
86435119513. = -

E, . BH orE

¥

BT
86435119514, '

86435119515, Lx- Bzor E;, By

23/91
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E,,B orE. , B
86435119516, ¥+ S

Question Number : 19 Question Id : 8643516499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y-066Q 97 @9 6aITY GI9-9ARIA CATa G 98 (PR AT 699 iE,\ 19° QA1

cag (p) @@I21egFea 6Q19 989 ?

Options :

86435119513. E‘f'B @ ]: B'
E.,B. @ E,, B

86435119514, *" ¥ ¥rox

86435119515, Lxs B: @7 E,, B,

86435119516. E‘J”B e Exr B

Question Number : 20 Question Id : 8643516500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The decay of a proton to neutron is :

Options :

not possible as proton mass is less than the neutron mass

86435119517.

86435119518 possible only inside the nucleus

i ray. i it 15 : i F 1 b )
26435119519, always possible as it is associated only with 5 decay

86435119520, MOt possible but neutron to proton conversion is possible

Question Number : 20 Question Id : 8643516500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HiEnE 6YiTae dd :

24/91
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Options :

86435110517 298 Q6% 60629 6QICRR 99Q QIERA 99Q 0Ig /A

86435119518, @9 QIREd Faee 9A

als 10 COE q ¥ @
86435119519. Lgl QG ':E]G';'q g lf': R Qe o ‘E]ﬁé

86435119520. =~ =7 TR =

Physics Section B
Section Id : 864351434
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351434
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643516501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The projectile motion of a particle of mass 5 g is shown in the figure.

The inital velncit}-' of the pa_rficle is 5«,5 ms ! and the air resistance is assumed to be negligible.

The magnitude of the change in momentum between the points A and Bis x %10~ 2 kgms L.

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 21 Question Id : 8643516501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5g 9dg G948 9@ adal g6add oog 9e6a QdiIalE

.--"__}_ T
.-'"f.-. .-.-"""\n

i 45° %

y P
4
A B

Réa18e gioda 696 5v2 ms™! 26e 9e° QYNGR 0F6RINE FEEN 691R §690RI QRIAN | A @
B 89 Qaf (68 2°6e0n J89a9a 98aE x x10~2kgms 1 26T | x @ (A 629

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643516502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An infinite number of point charges, each carrying 1 nwC charge, are placed along the y-axis

aty=1m,2m,4m, 8 m .............. g
The total force on a 1 C point charge, placed at the origin, is x x 10° N.

The value of x, to the nearest integer, is

[Take = 9x10° Nm2/C?

d1reg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643516502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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y-29 2960 y=1m,2m, 4 m 8 m........... Ol6a g6eim 1 pC 9IF Q29 @QaQl AW oIF
QREEq QHIGE |

(999 (2059) 62 29 1C @ 916 99 Q96 9949 AW 990 9818 xx10° N 265 | x 8
ey 2ee

[ = 9x10° Nm2/C2 §2]

dreg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643516503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two wires of same length and thickness having specific resistances 6 {} cm and 3 2 cm
respectively are connected in parallel. The effective resistivity is p {2 cm. The value of p, to
the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643516503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Qda goeald QaIgen 6 Q cm ¥e° 3l cm QI Q@F AAIF 6L 9S° 6FIETRR BI0g AR GIEE
Q6QIS FAILIRE | ADIRIN ABERRISI p D cm Z6E | p @ FaY 26T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 24 Question Id : 8643516504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 4 kg, moving with a velocity of 10 ms !, collides with a spring of length 8 m
and force constant 100 Nm 1. The length of the compressed spring is x m. The value of x,

Lo the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 ms~ ! G8i6ad6n 06 @qael 4kg 997 994 60159 9F, 8 m 64dY €9&° 100 Nm~! oo Gaiw
gQl Gt Jar 99 MRl 62RI | CPERITE CRIRAQ! GER AN x m BIEE | x @ FJRY 26T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516505 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The typical output characteristics curve for a transistor working in the common-emitter

configuration is shown in the figure.

Io(mA) T
- R TR T lg=40pA
6 [------ ot T =30 A
o ifemses e T [g=20pA
9 .---?-_’f.- T Izg=10pA
.-xf"
0% ”

Vee(V)

The estimated current gain from the figure is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516505 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F606a QIR RYee GFYIA6a AIdY 9929 99 §H9R9 0606 ZERYSRERRN QRERM FHIKIRE |

ICI:mx’-‘i]I 1
g ——————————— I (—,.-'__— Epa IB:4D '-L'A
6 t-------- Lo e II5=3D A
. e e R IB=2{]F.LJ\
2 -“_,;;F S IB=1D A
.l"'/-/
0 >

Vee(V)
ggoe 2Ieee A% 9QUe cQIe 2I6e

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643516506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a 72 cm L:mg wire AB as shown in the ﬁgurc-. The galvanomc-tc-r jnckc-}-' is placc-d at

P on AP at a distance x cm from A. The galva_tmmc-tc-r shows zero deflection.

*B

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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9860 @dIHRael BRdAIEa 72 cm 6REYR 6108 90 @9 | CINRIERIFCR @@E AB QU698
A 01§ x cm 999168 891 P @960 98 | IReies f(eaf ga(Feal) Seaa @d198

s om o
¥V f\-\_ WAL
|i(-;‘,
T
AW : \‘l' B
.
P
T
X Q €RY 2ee

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A galax}-' is moving away from the earth ata speed of 286 kms — 1. The shift in the wavelengﬂl

10

of a redline at 630 nm is x> 10 m.

The value of x, to the nearest integer, is
[Take the value of speed of light ¢, as 3 x10° ms ™[]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9@ 212192 (SIRId) 286 kms~ ! 6266@ Q21 0If 96Q6 DIRE | Y9 630 nm @ AIN AT 6LEIER
62009 U 268 xx 10710 m | FREeq g4 eIea x @ OaY 260
(2leRian 696 ¢ @ 3x 108 ms™! 6@ §2)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516508 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a water tank as shown in the figure. It's cross-sectional area is 0.4 m®. The tank
has an opening B near the bottom whose cross-section area is 1 cm?. A load of 24 kg is
applied on the water at the top when the height of the water level is 40 cm above the bottom,

the velocity of water coming out the opening B is v ms™ L.

The value of v, to the nearest integer, is __

[Take value of g to be 10 ms ™7

24 kg
WM f’-"g_

S

B i
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516508 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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9G60 @dIKIGEQl BQAIER 615N QI8 01Ty A0 @A | 4916 gE6Rae 689U 0.4 m? Z6E | SIEe!
@€ GIGEe 60T 289 B Q8% Q196 g96g9e 688UF 1 cm? 26C | @ 9968 24 kg @ GRS
QUER | CLUEPERER TJINICIEA PRYAR @26 40 cm 2N, 69606969 B @4l 69@ 99190 @0
69166 696 v ms~! 266 | FREEN A HIIER v @ R 26T

(g @ €9y 10ms™ 2 6aIa Qo)

24 kg
——

e

B it
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A TV transmission tower antenna is at a height of 20 m. Suppose that the receiving antenna

is at.

(i)  ground level

(i)  a height of 5 m.

The increase in antenna range in case (ii) relative to case (i) is n%.
The value of n, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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66N @Rade 9aRd G990 aEel 20 m 988 | (6RR0 6O g2 RQaQl ZICIRIT
(i) 99969,
(i) 5 {loQ GE0IER QWEE |
g4 (i) gmqica @6 (i) 60 9F QLA 2Iedxl a8daa (698) n% 26T
FREEF geaeica n @ el 69eE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643516510 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius of a sphere is measured to be (7.50 =0.85) cm. Suppose the percentage error in its

volume is x.
The value of x, to the nearest x, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516510 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6QIEY 6EIRQA QUIQAE (7.50+0.85) 6Q.8 6QIA AT RAIGRI | FIEERR YLIQ 2IAGFER 46991 9F
x 26T | PR gdacaiea x @ (R 216e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351435
3

Online
Mandatory
20

20

80

Yes

1
864351435
Yes

Question Number : 31 Question Id : 8643516511 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A hard substance melts at high temperature and is an insulator in both solid and in molten

state. This solid is most likely to be a/an:

Options :
86435119531, lonic solid

86435119532. Covalent solid

86435119533, Metallic solid

86435119534, Molecular solid

Question Number : 31 Question Id : 8643516511 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 99 99id e RIEAAIGIER 90 AN 9e° 9@l A0 99° G Aed AFIEa eId @G@G‘I@I 2ee |

Options :

86435119531, “EAaE @O

86435119532, dFiediE @O

86435119533, &9 @0@

86435119534, HIS9& @O
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Question Number : 32 Question Id : 8643516512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Bohr's thED}:’}’ accounts for the stabilit}f and line spectrum of Li* ion.

Statement 11 :  Bohr's theory was unable to explain the splitting of spectral lines in the
presence of a magnetic field.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435119535, Dboth statement I and statement 11 are true.

86435119536, Doth statement I and statement LI are false.

86435119537, Statement 1 is true but statement 11 is false.

86435119538, Statement I is false but statement 11 is true.

Question Number : 32 Question Id : 8643516512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q760 Qa0 % TAULING :

Q@ 1: 69120 02y Li* 2109a 00l 99° 654e @dIRg QU Q6a |
@8 I1: 69199« 924 9ARIY 699R RUFTR Aud QdIM 6adl gFaY I AR AV
2l6e |

RU6RIS BB UFAER, @7 TR (RIG AR AYS BT UL :
Obfions :

86435119535, d @8 1 499° @8 11 Q6 266 |

26435119536, 20 @@ 1 9e° @9 11 F124| 266 |

86435119537, Wa 1 9ol @ wW 11 1241 269 |

ga 1 faN @2 e 11 96y ZI6g |
86435119538, =
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Question Number : 33 Question Id : 8643516513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charges on the colloidal CdS sol and TiO, sol are, respectively :
Options :

86435119539, Positive and positive

86435119540, Negative and positive

86435119541, POsSitive and negative

86435119542 negative and negative

Question Number : 33 Question Id : 8643516513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CdS sol 9@° TiO, sol 60 RALR 9IF FEe Q2AREA :
Options :

86435119539, I@CE 19° ARCE

86435119540, Snooo el e dwe'y

86435119541, FrOPRCI RARUH

86435119542, RO GHONEN

Question Number : 34 Question Id : 8643516514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first ionization energy of magnesium is smaller as compared to that of elements X and Y,

but higher than that of Z. The elements X, Y and Z, respectively, are :
Options :

26435119543, argon, chlorine and sodium

86435119544 chlorine, lithium and sodium
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86435119545, argon, lithium and sodium

26435119546, 1eon, sodium and chlorine

Question Number : 34 Question Id : 8643516514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIEgdans gae 29a1aad 43 ciie X 99° Y @aqiea @f @2 Z 0Ig 2ue | 6dlde X, Y, Z
69RET :

Options :

86435119543, IO, SRR " i

86435119544, SHOR, WA 9 6APAA

86435119545, CIQEIS, WA NQ° QYA

86435119546, 700 6ALAA 1° 6]/QR

Question Number : 35 Question Id : 8643516515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Mercury (i) Vapour phase refining
(b) Copper (if)  Distillation Refining
(c) Silicon (iii) Electrolytic Refining
(d) Nickel (iv) Zone Refining

Choose the most appropriate answer from the option given below :
Options :
86435119547, @)-(i), (b)-(iii), (c)~(iv), (d)-(i)

86435119548, (@)-(1), (b)-(iv), (c)-(i), (d)-(iii)

86435119549, (@)-(ii), (b)-(iii), (c)~(i), (d)-(iv)
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26435119550, @ (), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 35 Question Id : 8643516515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QR -1 980 QIEl - 11 da12 -

QIR - 1 Q@RI - 11
(a) €A (i) QB Sgaead
(b) U (i) Qo7 SgEaad
(c) Qe (ii) 69QIEQ FEFRE
(d) Geaw (iv) 6RI7 Qgaaad

3¢ 998 MIQ AR RAYS VAT UL :
Options :
26435119547, (@) (i), (b)-(iii), (c)-(iv), (d)-(i)

86435119548, (@)-(1), (b)-(iv), (c)-(ii), (d)-(iii)
86435119549, (@)-(ii), (b)-(iii), (c)~(i), (d)-(iv)

26435119550, (@), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 36 Question Id : 8643516516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In basic medium, I-I_",._Cl2 exhibits which of the following reactions ?
(A) Mn2* — Mn**

(B) L =1

(C) PbS — PbSO,

Choose the most appropriate answer from the options given below :

Options :

86435119551, (Y only

86435119552, (B) only

86435119553, (), (B) only
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(A), (C) only
86435119554, ,

Question Number : 36 Question Id : 8643516516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gleg alanea H,O, fORge 9ogal QdiQalg |
(A) Mn2t — Mntt
B) L—I
(C) PbS — PbSO,
3¢ PRF MUQ AR VAYS ANAT L :
Options :
(A) 6@
86435119551,

86435119552. o) e

86435119553. 12); (B) G

A), caa'am
86435119554.{ ) (©

Question Number : 37 Question Id : 8643516517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Be (i) treatment of cancer
(b) Mg (ii) extraction of metals
(c) Ca (i) incendiary bombs and signals
(d) Ra (iv) windows of X-ray tubes

(v) bearings for motor engines.

Choose the most appropriate answer from the option given below :
Options :
26435119555, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
86435119556, (@) (i), (b)-(iv), (c)-(ii), (d)-(v)
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86435119557, @), (b)-(iid), (c)-(1), (d)-(ii)

26435119558, (@), (D)-(iv), (c)-(v), (d)-(i)

Question Number : 37 Question Id : 8643516517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IR -1 980 SIaI - 11 G2 :

QIR - 1 @RI - 11
(a) Be (i) 620200 @
(b) Mg (ii) g falae
(c) Ca (iii) 2FRNOR 6IFN IG° AEHE
(d) Ra (iv) X-ray @@1Q <o

(v) ¢ee aEaRa Quar
3¢ 998 kg PN RUYS REE QIS :
Options :
86435119555, (@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)

86435119556, (@) (D), (b)-(iv), (c)-(i1), (d)-(v)

86435119557, @ v), (B)-(ifd), (c)-(), (d)-(ii)

86435119558, (@), (B)-(iv), (c)}-(v), (d)-(ii)

Question Number : 38 Question Id : 8643516518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The oxidation states of nitrogen in NO, NDZ, N?_D and NDE are in the order of :
Options :

NO > NO, > N,O > NO;
86435119559. g

N,O > NO, > NO > NOj
86435119560. :

o Wl >
86435119561. DY, NGy =G0
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NO: >NO, > NO > N.O
86435119562, NOs 2 2

Question Number : 38 Question Id : 8643516518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NO, NO,, N,O 9@° NO; 68 QIa6gleeas @Iod 2eIq @0t 6268 -

Options :

NO > NO, > N,O > NO;
86435119559, 8. i :

N,O > NO, > NO > NO;
86435119560, 2 2 ~

- = =
s6435119561. N2> NO3 >NO>N,O

NOj; >NO, > NO > N,O
86435119562, - 2 2

Question Number : 39 Question Id : 8643516519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxide that shows magnetic property is :
Options :

3

510
86435119563. =

MIHD4
86435119564. :

MgO
86435119565

Na,O
86435119566. =

Question Number : 39 Question Id : 8643516519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QAL g8l QSRS 2AFINGT 6208 :
Options :
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Si0
86435119563. =

Mn,O
86435119564, 34

MgO
86435119565

Na,O
86435119566. e

Question Number : 40 Question Id : 8643516520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The secondary valency and the number of hydrogen bonded water molecule(s) in
CuSD4'5H2D, respectively, are :

Options :

86435119567 4 and 1

86435119568, 0 and 4

86435119569, > and 1

86435119570, 0 and 3

Question Number : 40 Question Id : 8643516520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CuSO,-5H,0 69 §o1Le cdIRQ 9e° Q9@IF QR0 @@ e Q°all J2IReq c2a8 :
Options :

86435119567, + 99" 1

86435119568. g

86435119569, ° 99° 1

86435119570, © 9872
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Question Number : 41 Question Id : 8643516521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Non-biodegradable wastes are generated by the thermal power plants.
Statement 11 : Bio-degradable detergents leads to eutrophication.
In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435119571 Both statement | and statement 1l are true.

86435119572 Both statement I and statement 11 are false.

86435119573 Statement 1 is true but statement 11 is false.

26435119574, Statement 1 is false but statement 11 is true.

Question Number : 41 Question Id : 8643516521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q760 QaF 8@ JAULIRG :

S 1 : PR 9% QKEIFI QIBl 65e AL R QT 99 |

Q@ I1: 609 90 AAIFR J6LIF6RdAR RAIR2I |

QU6RIS 2 TQACR, FAYe TR M TR RAYS AEREY IS :
Options :

26435119571, 2w W® 1 N9° ww 11 964 T6T |

2643511957, e 98 1N @9 11 ¢ZH T6¢ |

26435119573, @8 1 964 @3 @9 11 Aail 26T |

86435119574, @@ 1 €12l Qg Q@ 11 964 266 |

Question Number : 42 Question Id : 8643516522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 :  C,H;OH and AgCN both can generate nucleophile.
Statement Il : KCN and AgCN both will generate nitrile nucleophile with all reaction

condibions.

Choose the most appropriate option :
Options :
86435119575. Both statement | and statement 1l are true.

86435119576, Both statement I and statement 11 are false.

86435119577 Statement 1 is true but statement 11 is false.

86435119578, Statement I is false but statement 11 is true.

Question Number : 42 Question Id : 8643516522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Geea QaF e GUIYIGE :
s 1 : C,H-0H 49e° AgCN @@ Qigediam 48 @8 1069 |
@@ I1: @@ KCN 99° AgCN 99 9539l Q66a FIagan S4asaiam 98 @569 |
AR WIS 2605 g :
Options :

86435119575, 20d @9 1 NQ° @3 11 964 Uee |

86435119576, “@a @8 1 9e° @@ 11 €128 266 |

ea 1 9oy @2 a@ 11 f24 2eg |
86435119577. <

86435119578, &= 1 F1all @g @9 11 964 266 |

Question Number : 43 Question Id : 8643516523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the following molecule,

a
H;C

;0O

Hybridisation of Carbon a, b and ¢ respectively are :

Options :

R, 2
86435119579, ¥+ 5P+ 5P

N,
86435119580, °F » 5P 5P

-
86435119581, 1 » P ¥

sp3, sp, sp?
86435119582. i

Question Number : 43 Question Id : 8643516523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QFORNYS 2GR VAL a, b, c B ISV D2AGEF 62T :

Options :

3 ol 2
86435119579, ¥ 5P P

.

86435119580, °F 5P 5P
Sp°, Sp. Sp

86435119581

sp3, sp, sp2
86435119582. P e

Question Number : 44 Question Id : 8643516524 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Main Products formed duri_ng a reaction of l-methox}f naphthalene with h}-‘droif}dic acid

are :

Options :

and CI—I3I

86435119583.

and C HSDH

58

86435119584.

OH

and C H3OH

o

86435119585.

OH

and C Hal

o

86435119586.

Question Number : 44 Question Id : 8643516524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IREEI 2ALR 2F, ADe 1 6rAFRITARNR, 4oL AAL6a G100 eYle g 6298 :
Options :

@ CH;l

-

86435119583.
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4@° CH,OH

86435119584,
OH
9e° CH,OH
86435119585
OH
96 CHal
86435119586,

Question Number : 45 Question Id : 8643516525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reaction of hy pobromite with amide, the carbonyl carbon is lost as :
Options :
86435119587 CO

86435119588. CO,

—% r

COj3
86435119589,

e ]

H
86435119590.

Question Number : 45 Question Id : 8643516525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GG 80 RCUIEYINIRS goRAen 78 62908el RIN6IFR IR IR 69RT -

Options :
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86435119587. CO

86435119588. CO,

—% r

COj3
86435119589,

HCOj
86435119590 -

Question Number : 46 Question Id : 8643516526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0
\ é dil NaOH ..y, H*, Heat | ..

Consider the above reaction, the product ‘X" and “Y" respectively are :

Options :
O O
OH .
86435119591.
OH O
86435119592. O
O O
OH :
86435119593.
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O

O
dop lr

Question Number : 46 Question Id : 8643516526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O

86435119594.

: g e
9 dil NaOH 3 1Y H™, Heat

} £ Yn'.l'

ROEQI8 gRRAIFq @9Ia @9, @19 ‘X' 9e® Y’ QaIger 2.8 :

Options :
o 0
W ; M
86435119591
OH o)
86435119592. i o é
0 0
W ‘r M:

86435119593.
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OH

86435119594.

Question Number : 47 Question Id : 8643516527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An organic compound “A” on treatment with benzene sulphonyl chloride gives
compound B. B is soluble in dil. NaOH solution. Compound A is:

Options :
86435119595. SoTs e

C.H.—N-(CH
86435119596, © (CHs),

86435119597. L NEE
CeHs— (le —NH,

86435119598, CHy

Question Number : 47 Question Id : 8643516527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COER ARNETIOR €QAIRE 9P¢ Y@ 6FQ cdIda “A” goRd @0 6dde B @de @6 | B, ag
NaOH6Q @ed€iel | 659 6d1da A 62Q8 :

Options :
86435119595. Gl —~ L, NELCH,

C.H

N — (CH
86435119596, © 2 (CHy),

86435119597, Nl ey

CeHs—CH—NH,

86435119598, ek
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Question Number : 48 Question Id : 8643516528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH,
NO,
HNO;, HySO,
288 K
NO,
rucrz
A B

Consider the given reaction, percentage vield of :
Options :

86435119599, + > C > B

86435119600, > A > B

s % o
86435119601. sl

86435119602, €~ B> A

Question Number : 48 Question Id : 8643516528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,S0, ;
288 K
NO,
A B

doRLITy Q919 K9, AUIer d0ag| 6208 :
Options :
86435119599, £+~ C > B

86435119600, © > A>B
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5 b
86435119601. il

86435119602, ©> B> A

Question Number : 49 Question Id : 8643516529 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks
Match List - I with List - 11 :
List - 1
(Class of Chemicals)
(a) Antifertility drug
(b) Antibiotic
(¢) Tranquilizer
(

d) Artificial Sweetener

01

List - 11
(Example)
(i) Meprobamate
(i) Alitame
(i) Norethindrone

(iv) Salvarsan

Choose the most appropriate match :

Options :

86435119603, @)-(v), (b)-(iii), (c)-(ii), (d)-(1)

26435119604, (@)-(1), (b)-(iid), (c)-(iv), (d)-(i)

26435119605, @) (1i), (D)-(iv), (€)-(1), (d)-(ii)

86435119606, @)@, (B)-(v), (c)-(), (d)-(iii)

Question Number : 49 Question Id : 8643516529 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks

SIael - 1 990 a9l - I dai -

Q@RI - 1
(auaiade sgeél)

(a) 2geeol Ga
(b) gocwa@
(c) G989

(d) QEn e

01

(i)

(i)
(iii)
(iv)

Q@S - 11
(eaie)
6FI6gIDERE
ZIRESEL

weudda
ARXNQAR,

Q¢ 9Re AUQ AGRIR AAYS FAPRT] QIS :

Options :
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26435110603, (@-(¥), (b)), (c)-(ii), (d)-(i)
seans1 10604, @), (O)-(iid), (©)-(iv), (d)-(i)
seans11060s. @D, B)v), ©-0), (-

86435119606. (@)-(i), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 50 Question Id : 8643516530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Deficiency of vitamin K causes :
Options :
86435119607, ncrease in blood clotting time

86435119608, Decrease in blood clf}tﬁ_ng time

86435119609, Cheilosis

86435119610. Increase in fragility of RBC's

Question Number : 50 Question Id : 8643516530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QglIfie K @ 2919 |ald :
Options :

86435119607. Q@ @G QUERIR dild QLI

86435119608, Q@ IR QIRQIG Wil QLRI

@emIde
86435119609.

TR AErgedel Q&
86435119610. .
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Chemistry Section B

Section Id : 864351436
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351436
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10.0 mL of Na,CO; solution is titrated against 0.2 M HCI solution. The following titre values

were obtained in 5 readings :
4.8 mL, 49 mL, 50 mL, 5.0 mL and 5.0 mL.

Based on these readings, and convention of titrimetric estimation the concentration of I‘~~]'§1;CD3

solution is  mMLL

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10.0 mL Na,CO, @@é 0.2 M HCl @096Q 2GAIae @0 | Fgage AgAIae e A8 aoqea faa
48 mL, 49 mL, 50 mL, 5.0 mL 49e® 5.0 mL |

Mg doQ 9Q° FAQRAIIRA IRRRA KREaqde URLIA Na,CO, @9d4a dIee! 6298
- mhd |

(Gecen gdadisa adae aa)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 52 Question Id : 8643516532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of species below that have two lone pairs of electrons in their central atom is

. (Round off to the Nearest Integer).

SF,, BE; , CIF,, AsF,, PCl;, BrF, XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GCJea 29l GEER F12G AR R JafIgea el Qp GI9T QR R €AIG Al 2§
q°gl 6EQE _ [
(Gecen gda-dica afae aa)

SF,, BF; , CIF,, AsF,, PCly, BrFs, XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The gas phase reaction

2A(g) = Aq(g)
at 400 K has AG°= +25.2 k] mol 1,

The equilibrium constant K- for this reaction is %10~ 2 (Round off to the Nearest
Integer).

[Use: R=83]mol" 1K™, In10=23
log,,2=0.30, 1 atm=1 bar]
[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

400 K QIZ9IgIeq guIQie goadia 2A(g) = As(g), AG"= +25.2 k] mol I
a8 gogae am fae K. c2e@ %10~ |
(Pacen gdaravica adge /a)
[Use : R=83]mol"! K™, In10=23
logy, 2=030, 1 atm=1 bar]
[antilog (—0.3)=0.501]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643516534 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solute A dimerizes in water. The boiling point of a 2 molal solution of A is 100.52°C. The

percentage association of A is . (Round off to the Nearest Integer).

[Use : K, for water =0.52 K kg mol !
Boiling point of water=100"C]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643516534 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9@ QY A 960 QIGEANRRd 24 | 2 RN A @9da ERET 10052°C | A 9 9QGeaad
069 6oag [

(Gecen gda-gica a6ae aa)
[Use : K, for water =0.52 K kg mol !
eea @oale =100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516535 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The solubility of CdSO, in water is 8.0 x 10 ~4mol L~ L. Tts solubility in 0.01 M H,SO, solution
1 %107 ¢ mol L 1. (Round off to the Nearest Integer).

(Assume that solubility is much less than 0.01 M)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516535 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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CdSO, @ @19 9e4didel 628 8.0x10 4 mol L~ I 0.01 M H,50, 99660 9218 94199
69R8 21D * mpl 5.1 |

(Pacen gdarauica 08de aa)

(@e&ael 0.01 M g d6ad QF 924 @9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516536 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The molar conductivities at infinite dilution of barium chloride, sulphuric acid and
hydrochloric acid are 280, 860 and 426 S cm? mol ~! respectively. The molar conductivity at
infinite dilution of barium sulphate is S cm? mol ~ L. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516536 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 AYREER QRN 6])RRe, ANTIOG, AT UQ° VRCEICYRAR, ALY CAIRIQ ARG
6208 Q2AREA 280, 860 9&° 426 S cm? mol ! | QAN RYRAEER QAU ANECTTR 6AIRIR
AQQ@el coag S ecm? mol 1 |

(Pacen gdacauica 0fge /)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 57 Question Id : 8643516537 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction has a half life of 1 min. The time required for 99.9% completion of the reaction is

[Use : In 2=0.69; In 10=2.3]

min. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516537 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ geRAIe 262Ig 1 min gEGAT 99.9% A4 620! QIR 2SMR A min |
(Geeen gdadics a8ae aa)
[Use : In 2=10.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A xenon compou nd ‘A’ upon par’rial h}-‘dml}?sis gives KDDEFZ. The number of lone pair of

electrons present in compound A is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@ e 6dI8R ‘A’ 2rde @@ Gaee QI XeO,F, age @6a | 6dI8e A 60 29l MAT QERG.R
6dIF QG| €288 |
(Facea gdarauica adide @)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH

FeB
+Br2i} + HBr

Br

Consider the above reaction where 6.1 g of Benzoic acid is used to get 7.8 g of m-bromo
benzoic acid. The percentage yield of the product is

(Round off to the Nearest Integer).
|Given : Atomic masses : C : 120 u, H: 1.0 u, O : 16.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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COOH COOH

FeBr,
+ Br, ———» + HBr

Br

RU6QIS oRAIE] §91a @9, 690 6.1 g COBRA, 2F MR AR IRl 7.8 g m-69I67 6QE8RK
2ie] FQ2M | Q99 299 J99% 62e8 |

(Pacen gdaravica 0fge aa)

(o) : gleneae @3 C:120u, H: 1.0y, O :16.0u, Br: 800 u )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516540 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Tollen’s test for aldehyde, the overall number of electron(s) transferred to the Tollen’s
reagent formula [Ag(NH,),]* per aldehyde group to form silver mirror is
(Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516540 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2ING2IR6, dis C6RE JRIGIER QO 9dE G0F @69 dIR feRe GRdER [Ag(NH,),|* @
AIRI2Q 621N CAIFIEAIT RERG.F A 90 ANPLIRE, gY. AR 62ad |
(Faced gdaraiica 08€e @)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351437
5

Online
Mandatory
20

20

80

Yes

1
864351437
Yes

Question Number : 61 Question Id : 8643516541 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If 15sin?a +10cos?a=6, for some aeR, then the value of 27sec®a+ 8cosecta is equal to :

Options :
86435119621, °V0
86435119622, 00

86435119623, 220

86435119624, 220

Question Number : 61 Question Id : 8643516541 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@@ 15sinda+10costa=6, (69609 aeR QlGt), 6069 27secba+8cosecba @ Gl QAT

Options :

86435119621. 300

86435119622, 00
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86435119623, 220

86435119624, 220

Question Number : 62 Question Id : 8643516542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If P and Q are two statements, then which of the following compound statement is a
tautology ?

Options :

36435119625, (P=Q A~ Q) =P

86435119626, (P=Q ~~Q) = Q

86435119627, (P=Q A ~Q)= ~P

86435119628, (P=Q) A ~Q)= (P~ Q)

Question Number : 62 Question Id : 8643516542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ad P Ne° Q 9a% 927 228, 6669 37 6dITQ QUR ARIY (RS 1@ gRYB(SESIEAIT) 26T 7

Options :

86435119625, (P=Q A ~Q)=P

86435119626, (P=Q) »~Q) = Q

86435119627 (P=Q A ~Q)= ~P

86435119628, (P=Q) ~ ~Q) = (P ~ Q)

Question Number : 63 Question Id : 8643516543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A pole stands verticaﬂ}f inside a triangular park ABC. Let the angle of elevation of the top of

If the radius of the circumcircle of AABC is 2,

the pole from each corner of the park be =

3
then the height of the pole is equal to :
Options :

2.3
86435119629, O

25

86435119630.

-

86435119631.

g

86435119632.

Question Number : 63 Question Id : 8643516543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9% BRPRIG Q19 ABC (k60 @ ¢ Gaf 621 891 628 | AIF G2 Q199 g6oie 6169 ¢Aa

: o am AR e y it
189 2Fe (RW6RINT) 6RNER RS 3 49 ger ABC @ 90980 MIIE 2 94, 6069 e
@Eel 4dela -

Options :

86435119629, 3

86435119630.
86435119631.
86435119632.

Question Number : 64 Question Id : 8643516544 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let in a series of 2n observations, half of them are equal to a and remaining half are equal to
—a. Also by adding a constant b in each of these observations, the mean and standard
deviation of new set become 5 and 20, respectively. Then the value of a+b?is equal to :
Options :

86435119633, 922

86435119634. 425

86435119635. e

86435119636. 250

Question Number : 64 Question Id : 8643516544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARG 2n AGY6RAE GHR 69616R 2l OHIERRER A a A9 AAIR We° 2L 2l (26FR) |
(R —a Q9 AAIR | gRE 9604 OICRRagRace 1@ RIS b 6AIGRER, 6A@ G2 6A8R ARIAIR
(fig) 9e° QIed G948 (VLG 6eEMAR) D2IFER 5 99° 20 @4 | 6569 a2+b2 Q g AAIF :

Options :

86435119633, 225

86435119634. 425

86435119635. .

86435119636. 20

Question Number : 65 Question Id : 8643516545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let in a Binomial distribution, consisting of 5 independent trials, probabilities of exactly
1 and 2 successes be 0.4096 and 0.2048 respectively. Then the probability of getting exactly

3 successes is equal o :

Options :
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40

86435119637 243
80

86435119638, 243

128

86435119639. =

39

86435119640. e

Question Number : 65 Question Id : 8643516545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AIRRE 9@ U9 Q496a 5 T ¢oq da4diq 2@, 06 691t 99° 9F AU96! dIeRIq QaIeye

gelRes 0.4096 99° 0.2048 | 6069 OF G6RIT AUREl AR QRIS AR :

Options :
40
86435119637, 243
80

86435119638, 243

128

86435119639. =

39

86435119640. e

Question Number : 66 Question Id : 8643516546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— - et —
AB| = 10, then the projection of the vector AB on

C.%‘ =7

% g _

In a triangle ABC, Lf‘B{:‘ — 8.
_':..

AC isequalto:
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Options :
115
86435119641, 10
85

86435119642, 14

127
86435119643, 20
25
86435119644, 4

Question Number : 66 Question Id : 8643516546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
— o —y ‘ BC ‘ . ~ . P # | T — . e —
9@ o8 ABC 69, 49 |[BC| =8, |CA| =7, |AB| =10, 6962 AB Qdis@ AC YdiT @UeQ

Zeeld (gead) aag :

Options :
115
86435119641. »
85

86435119642, 14

127
86435119643, 20
25
86435119644, 4

Question Number : 67 Question Id : 8643516547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the centroid of an equilateral triangle ABC be at the origin. Let one of the sides of the
equilateral triangle be along the straight line x + y=3. If R and r be the radius of circumcircle

and incircle respectively of AABC, then (R+r) is equal to:
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Options :

86435119645.

86435119646.

86435119647. 7V2

86435119648.

Question Number : 67 Question Id : 8643516547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AIEGe 90912 §8e ABC @ 996a% (AAAINeEa 5 9Q) (79 RU6a A9Ee | AL Gaee
4 QI AORERd x+y=3 Q¢ QAIeA | 9F R 99° r JAIQEH 88 ABC @ 989a (¢ 221999
MIQAIS 22T, 6069 (R+1) AAIQ :

Options :

%3./5
86435119645. V2

9
2
86435119646.

86435119647.

86435119648.

Question Number : 68 Question Id : 8643516548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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.xz % K . T
Let a tangent be drawn to the ellipse 2—_ Fy = 1at f3ﬁcngﬂ,5i¢~.ﬂ_] where l}e({], E]
/ 4, g

Then the value of 8 such that the sum of intercepts on axes made by this tangent is minimum

is equal to :

Options :

Mk

86435119649.

|4

86435119650.

SIEN

86435119651.

Lk

86435119652.

Question Number : 68 Question Id : 8643516548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

5 | _ |
aeaY odes (aRq) ;—? ry2 =1 98 2 (343 cos0,singd), 0 E[{], %] 0I6Q 9@ AR AR

QRIIRE | 6069 0 6 FIF DI Cigl, 9@ e QI AR AR CE°H AIPEa ANd Faen (a9dq)
PleQ 0121 QIR :
Options :

am

3

86435119649.

NP

86435119650.

SIER

86435119651.

k!

86435119652.
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Question Number : 69 Question Id : 8643516549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

di ' gt
Let y=y(x) be the solution of the differential equation IJ‘ = (y + 1) [fy | 1_301"‘ X

di
0 < x <21, with y(2)=0. Then the value of —j at x=1 is equal to :

dx
Options :
o35
[1 I 02 )
86435119653.
2e2
2
1fl I r_-z]
86435119654,
50}’5
{02 1)
86435119655.
"n_;'
g2
- 2
{r_-z | 1]
86435119656.

Question Number : 69 Question Id : 8643516549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13

»e d - . |
ARG 29ae AR ay =(y+ D(y+ 1)e"2—x), 0 <x <21, y(2)=0 @ y=y(x) 9«

di
deliuia | 666 x=1 Ol6a aj Q Flml Qe -
Options :
o5
(1 + e2)
86435119653.
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2e
2
'[1 [ ::-2]
86435119654.
Se/2
(@2 3
86435119655.
C'}i:
3
2+l
86435119656.

Question Number : 70 Question Id : 8643516550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area bounded by the curve 4y?=x?(4 —x)(x—2) is equal to :

Options :
3
86435119657. 8
o

86435119658, 16

=

86435119659.

Bt
g

86435119660.

Question Number : 70 Question Id : 8643516550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QR dy?=xH4—x)(x—2) QR LIS AR CHGTR AAIF :

Options :

-."'r'.r

86435119657. 8
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e
)

86435119658.

=

86435119659.
B
3

86435119660.

Question Number : 71 Question Id : 8643516551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1
Let g(x) = L;Ll,f'{t}dt, where f is continuous function in [0, 3] such that 3 = fit) = 1 for all

1
te[0, 1Jand 0 = f{t) = 7 forall t e (1, 3]. The largest possible interval in which g(3) lies is :
Options :

Sig o
3
86435119661.
1
L]
2
86435119662.
1, 3}
86435119663.
[3]
LR |
2
86435119664.

Question Number : 71 Question Id : 8643516551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o . — - oo M e
ARG g(x) = j;f(t]dt, 69R0I6R awa f§ [0, 3] ABAINEA 2FR 26E 6AUGE - = fit) = 1,

AAg te(1,3] Qe | 2RO AAQ 2R, CARYER g(3) A

N||—a'

ang te [0, 1] QIR e 0 < fit) <

(21980 62Q) Q19 26e :

Options :
[
2]
3
86435119661.
1
-3
2
86435119662.
(1, 3]
86435119663.
[ 3
N
2
86435119664.

Question Number : 72 Question Id : 8643516552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be a function defined as

sin (a + 1) x 4 szx,ifx{{]
2x
f(x)=+b ,ifx =0
3
Vx4 bxia. \"{; S
bx/

If fis continuous at x =0, then the value of a+b is equal to :

Options :
5
86435119665. 2

74/91



3/18/2021

86435119666, ~ 3

-2
86435119667. ~

3
2
86435119668.

Question Number : 72 Question Id : 8643516552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AEeY g9aa f: R — R fggeiea gaide

sinfa+ 1)x + szx,ﬂﬁ‘ x <0
2
f(x)=+<b G x =0
f - g
Vvx - bxv J:? 98 x>0
b x72

2@ x=0 0l6q Tee I_,FE‘,@E"F;‘ 2leg, 6969 a+b @ ¢aY Qellw -
Options :

k2|

86435119665
86435119666, — 2

86435119667. 2

3
2
86435119668.

Question Number : 73 Question Id : 8643516553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LetS | be the sum of first 2n terms of an arithmetic progression. Let 83 be the sum of first 4n
terms of the same arithmetic progression. If (S;—5;) is 1000, then the sum of the first

6n terms of the arithmetic progression is equal to :

Options :
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86435119669, /000

86435119670, 2000

86435119671, 2000

86435119672. 1000

Question Number : 73 Question Id : 8643516553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AIGTE e 2RI 6861 (YOIF) & daf 2n 99 AIREE 6LITITR 5, 9e° @ QA1 6g41R Faf 4n
AAIRTE 6LITR S, | 98 (S,—5;) =1000, 6669 @ AILR 6g41a AR 6n AIAIETR 6T
anae :

Options :

86435119669, /000

86435119670, 2000

86435119671, 2000

86435119672. 1000

Question Number : 74 Question Id : 8643516554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, : x>+y?>=9 and S, : (x—2)2+y?=1. Then the locus of center of a variable circle S

which touches S; internally and S, externally always passes through the points :

Options :
| :
(2+3)
86435119673, ’
0, = V3]
86435119674
(1, +2)
86435119675

76/91



3/18/2021

"

[

".

I3 | =

2

=35

86435119676.

Question Number : 74 Question Id : 8643516554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIRRE S, 1 x2+y?=999° 5, : (x —2)2+y?=1 | 606Q Y@ 9FQR S I QA 5, Y AVELR G 9V
S, 99 Q@868 R66, GIR CARFYA QLR T2 AR €AW @ A 6aR 0F @89 6Q 390 :

.

Options :
86435119673.

86435119674

86435119675.

[ o @
;) 2
86435119676. -

Question Number : 75 Question Id : 8643516555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the system of linear equations
dx+ Ay +2z=0

2x—y+z=0
px+2y+3z=0, A, pekR.

has a non-trivial solution. Then which of the following is true ?

Options :
86435119677, =3 meR
86435119678, M= 6 AeR
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86435119679, M=2 neR

86435119680, M =06, AeR

Question Number : 75 Question Id : 8643516555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIGGE Q2 AAIRAE A7

dx+ Ay +2z=0

2x—y+z=0

wx+2y+3z=0, A, peR @

4@ 2QIRIQE AN AT | €669 Qg 6REE Q6 7
Options :

86435119677, M= weR

86435119678, W= ~ 6 AeR

86435119679, N=2, neR

86435119680, =06, AeR

Question Number : 76 Question Id : 8643516556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =
Letf: R— {3} — R~ ({1} be defined by f(x) = —.

Let g : R — R be given as g(x)=2x—3. Then, the sum of all the values of x for which

: 13
e+ g lw= — is equal to.
Options :

2
86435119681. ~

86435119682. S

86435119683,
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=

86435119684, *

Question Number : 76 Question Id : 8643516556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ARGe f: R—{3) > R—{1}, f(x)= S

g:R >R Q g(x)=2x—3 Q60 R QLIRS | 6669 x Q AL FRAIFINFS CAITR, 6ALRY

I b 13
ae f)+g 1(x1=3 Q12! 2160

Options :

]

86435119681.

86435119682.

86435119683.

1

86435119684.

Question Number : 77 Question Id : 8643516557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a complex number be w = 1 — /3 i. Let another complex number z be such that |zw| =1

and arg(z)—arg(w)= % Then the area of the triangle with vertices origin, z and w is equal

to:
Options :
1
86435119685, 2
2

86435119686.
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1
86435119687. *

86435119688. .

Question Number : 77 Question Id : 8643516557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QGG 4@ Qig i (99602) w=1— 37 | 294 9@ qfg Ll z ARG |zw]=1 Qe

. i - i
arg(z)—arg(w) = 5 6P6Q Flhe'd, z 1Q° w & dllFY% 670 P07 ARIdINdQ Puha AL rlla :
Options :
i
86435119685. 2
2
86435119686.
4
86435119687. *
4
86435119688.

Question Number : 78 Question Id : 8643516558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Define a relation F over a class of n xn real matrices A and B as
“ARB iff there exists a Imn-sf_ngula_r matrix P such that PAP~1=B".

Then which of the following is true ?
Options :
86435119689 R is reflexive, 5}-'1mnef:rn: but not transitive

86435119690, R is reflexive, transitive but not symmetric

6435119691 R is symmetric, transitive but not reflexive,
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86435119692, R is an equivalence relation

Question Number : 78 Question Id : 8643516558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
nXn QFL QAR AITYE A ¥9° B AIE96R 9@ QA8 R § 298 9880 @aIdeg, “ARB 4@

9° (AR U@ P QAR 98 AIEQ 28 Q19K W 974 Q6% 6U0d@ PAP~1=B", 606% Afrilg
6QRE Q0 26T ?
Options :

EH 1 ] le"‘. o T4 l
s64351 10680, R QUG98 anma g agen ges

86435119690 R qiflell, @°qf @8 dEa qew

86435119691. R aend, Q61 @9 QIEiqe g6

86435119692, R 9@ 4eigmy QRe 2lee

Question Number : 79 Question Id : 8643516559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a hyperbola H : x> —2y?=4. Let the tangent at a point -13 (4, V6 ) meet the x-axis at

Q and latus rectum at R (xy, y4), x; > 0. If F is a focus of H which is nearer to the point P, then

the area of AQFR is equal to .

Options :
86435119693. V6

k-

—_— = 2
86435119694. ve

1

86435119695.

46

86435119696.
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Question Number : 79 Question Id : 8643516559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NG 200eene (2IR9e6Inl) H: x2—212=4 q G9ia @a | AIRee @@'p[% ) Olea 9@,

5

x-U¥ A2 Q QP6R IQ° 6ME'Q ERALE (FIGeY) A2 R (x4, yy) x; > 0 GQ6a Ade 99 | &

/1.

pe6Rl H @ Q1@ (6a199q) F 26e giwl P 'C"E"“J PRCQE!, 6669 E}E‘Ih QFR € 639da deie -
Options :

86435119693.

86435119694.

86435119695.

46

86435119696.

Question Number : 80 Question Id : 8643516560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o e — -
Let a and b be two non-zero vectors perpendicular to each other and ‘a‘ — ||+ [k
: 5 E‘ ‘ ween the vectors | {a % h” and a is equal to :
Options :
.cm_}(iw
86435119697 V3)
cos_l(%)
86435119698, L
.qf_n_l [L)
86435119699. V3)
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i 1]
gin® | —
I\._ ‘\,I'I'g |
86435119700.

Question Number : 80 Question Id : 8643516560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: _}‘
a =

— ._> y | =} - y-m- | o =7 e, = | . -
ARGY a 99° b Q@F AGgM 999 99 AA SaIE 9e” bl 198 | E‘ " m 6069

._} _:..

Al [ =g l_; AR BEY b}] 9e° a FI68 29l 6RI6E RIS :
Options :
' 3
cos ™! [% |
86435119697 R
. . [ .
cos — |
LY \'12 r
86435119698. :
' 3
sin ! [% |
86435119699. g B
' 3
. =1 1
sin —
%)
86435119700.
Mathematics Section B
Section Id : 864351438
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351438
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643516561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If flx) and g(x) are two polynomials such that the polynomial P(x) =f(x") + x g(x”) is divisible

by x>+ x+1, then P(1) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643516561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A@ flx) 99° g(x) QAF 920Q QF 28] €998& P(x)=f(x?) +x g(x*) @299% x2+x+1 QI8
AR, 6669 P(1) aag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

L =1
Let I be an identity matrix of order 2x2and P = [5 J. Then the value of neN for which

P"=5I—8P is equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 82 Question Id : 8643516562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9

. . — - Fall l ]
ARGe I 9@ (2x2) 2ea 68 2699 AI5e we° P= [5 ,J 6069 n @ FAY (neN) QI2IIG

P"=5I-8P, ¢l@ Qg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
The term independent of x in the expansion of { 3 T 3 ] , x #1, is equal
Xy E R IR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
[ rt1 -1 1  (x#1) @ 99086a x 29I 9ef QAIg
x73

1, 1
&)

3+ 1 x x'2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 84 Question Id : 8643516564 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10

if Yt (e + 6r% + 2r + 5) = o (111),
r=1

then the value of « is equal o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516564 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
10

a@ Y. rt (£ + 6r° + 2r+ 5) = a (111) 24, 6669 o @ a4 QAP

r=1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516565 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P(x) be a real polynomial of degree 3 which vanishes at x= —3. Let P(x) have local
B

minima at x=1, local maximaatxyr= —1and _[ P(x)dx=18, then the sum of all the coefficients
-1

of the polynomial P(x) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 85 Question Id : 8643516565 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARG 3 62 99 998 9299 P(x) LIPIQ R x=-3 0168 g7 6IRAN | P(x) 8 A1
1

QIFen (A9FF) x=10I6a, Q1R YRR (YR ) x=—1 0I6Q 9e° [P{x]dx= 18, 99 6069
-1

@Ede P(x) @ 9n9 999 9w 64T QIR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516566 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let y=y(x) be the solution of the differential equation xdy—ydx= .,Illl{xz yz } dx, x=1, with

y(1)=0. If the area bounded by the line x=1, x=¢7, y=0 and y=y(x) is ae®™ + B, then the
value of 10(a+ p) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516566 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AIGGY 29@e 01808 xdy—ydr=/(x? —y*) dx, x=1 @ y=y(x) 9@ QAL €ALOIER

y(1)=0 9% 6a¢l x=1, x=e7, y=0499° y=y(x) AIrE Q9 2T 6L HYT ac?™ + B g,
6069 10(a+p) @ a1 QR

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643516567 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X I_ylﬁ_zIS
3 4 2

Let P be a plane containing the line and parallel to the line

-
L
=
I3
1

Z
= = s If the point (1, —1, &) lies on the plane P, then the value of S« is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516567 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x—1 y+6 _ z+5

UGG P 99 496w 26 9l @968 cad 3 2 =~

2ede 9e° @ QAeR Qs

z+5 o -
= = Qe aaIeq | 4@ 8. (1, —1, a), P 9069 adea 2986 94, 6069 [5a| @

aen alg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516568 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let the mirror image of the point (1, 3, a) with respect to the plane y.{2; ; | ;;:l b=0

be (—3, 5, 2). Then, the value of |a+b| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516568 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARGe aee r-(27 - - k| —b=0 22 A6am 8¢ (1,3,a) @ eda goaa (-3,5,2) | 666@

a+b| @ gay QAP

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516569 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let "C, denote the binomial coefficient of x" in the expansion of (1+x)".

10
If l {22 + 3k) nC, = .30+ B.210 o, BeR, then a+p is equal to
k=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516569 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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10
ARG (1+x)* @ 9AEER x* @ §ae 496 *C, | @& Y (2% + 3k) "G =a3'0+p.210, q,
k=0

BeR, 6669 a+p QAR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643516570 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: R — R satisfy the equation flx+y)=f(x). fly) for all x, y € R and f(x) = 0 for any x ¢ K.

: 1 . .
If the function fis differentiable at x=0 and f'(0)=3, then }Iﬂ E [ f(h) 1) is equal to
] J !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643516570 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARG2 f: R — R, 901098 flx+y)=fv). fiy) 292 x, y e R 96" fix) #0 (696716Q x e R Q)

- N _ _ -
4@ e f, @Q x=0 0l6Q AXRRRML 29 9@° f'(0)=3, 606Q ;hf,}} 3 (fh) = 1) aaie

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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